

ممكن ان يكون... ٢٥ افترين!

$$a_1 = 8, a_2 = 11, \dots \left. \begin{array}{l} \rightarrow d = 3 \end{array} \right\} \rightarrow d = 3 \Rightarrow a_n = 8 + (n-1) \cdot 3 \quad (2) - 1$$

$$V_n + 3 = 1015 \Rightarrow V_n = 1012 \Rightarrow \boxed{n = 340} \checkmark$$

$$100 \leq V_n + 3 \leq 999 \Rightarrow 97 \leq V_n \leq 996 \quad (2) - 2$$

$$\Rightarrow 13, m \leq n \leq 142, m \Rightarrow \boxed{14 \leq n \leq 142} \checkmark$$

$$\left. \begin{array}{l} n=0 \Rightarrow a_1 + a_2 + \dots + a_n = 12 \\ n=1 \Rightarrow a_2 + a_3 + \dots + a_n = 9 \end{array} \right\} a_1 - a_2 = 3 \Rightarrow d = 3 \checkmark \quad (2) - 3$$

$$a_n + d + a_{n+1} + d + \dots + a_{n+14} + d = 14n + 14d \Rightarrow 14a_n - 14d - 14n + 14d = 14n + 14d \Rightarrow a_n = 2n + 14 \Rightarrow a_{14} = 42 \checkmark$$

$$d = r(r^x) - r^x + 1 = r^x + 1 \quad (2) - 4$$

$$r^{x+1} + r^x + 1 = r^x - 1 \Rightarrow r(r^x) + 1 = r^x - 1 \Rightarrow r^x = 2 \Rightarrow x = 1$$

$$\Rightarrow a_0 + a_1 + a_2 = 1 + 1 + 1 = 3 \checkmark$$

$$a_{11} - a_{10} = d \Rightarrow d = 1 \checkmark \quad (2) - 5$$

$$\Rightarrow a_{10} + a_{11} + d = 10 + 11 + 1 = 22 \Rightarrow a_{10} = 10$$

$$\Rightarrow a_{11} = a_{10} + 11d = 10 + 11 \cdot 1 = 21 \checkmark$$

$$r(S_{1-n}) = S_{y-10} \Rightarrow \cancel{r} (ra_1 + rd) \times r \cancel{r} (ra_4 + rd) \quad (2) - 8$$

$$\begin{aligned} \Rightarrow 4a_1 + 4rd &= ra_4 + rd \Rightarrow ra_1 + 4d = a_4 + rd \\ \Rightarrow ra_1 + rd &= a_1 + dd \\ \Rightarrow ra_1 &= d \end{aligned}$$

$$\Rightarrow \frac{a_r}{a_1} = \frac{a_1 + ra_1}{a_1} = \boxed{r} \checkmark$$

$$\Rightarrow rd = d \Rightarrow d = a$$

$$\Rightarrow \frac{t_1^r - t_0^r}{t_1} = \frac{(t_1 + r t_0)^r - t_0^r}{t_1 + t_0} \Rightarrow \frac{t_1^r + r t_0 t_1 + t_0^r - t_0^r}{t_1 + t_0} = \frac{t_0 (t_1 + r t_0)}{t_1 + t_0} = \boxed{t_0} \quad (2) - 9$$

$$d = \frac{r + \sqrt{r^2 - 4r} / 2r} = \frac{r + \sqrt{r}}{2r} = \boxed{\sqrt{r}} \checkmark \quad (2) - 1$$

$$d = \frac{r - \sqrt{r}}{r - 1}$$

(2) - 9

$$\begin{aligned} a_{n+1} = (n+1)d &= r + n \left(\frac{r_0}{r-1} \right) = 11 \Rightarrow n \left(\frac{r_0}{r-1} \right) = 9 \Rightarrow 4n = 4n - 11 \\ \Rightarrow 11 = 4n &\Rightarrow \boxed{n = 3} \checkmark \end{aligned}$$

$$ra_n + rd = ra_n + rd \Rightarrow a_n = a_n + dd \Rightarrow a_n = a_n \quad (2) - 10$$

$$ra_n = a_n \Rightarrow ra_1 + rd = a_1 + rd \Rightarrow rd = -ra_1 \Rightarrow -d = a_1$$

$$a_n = a_1 + (n-1)d \Rightarrow 0 = -d(n-1)d \Rightarrow n-1 = 1 \Rightarrow \boxed{n = 2} \checkmark$$